
Instructions: Wrong is right
Object of the Game: Win the most points by choosing the wrong answers. 

Materials: 
• Wrong is Right cards
• Special die with only 1,2,3 (or you can use a regular die and 1 &2 count as 1, 3&4 count as 2, 5&6 count as 3. )
• Dry erase markers/erasers

To play

Place the cards in a stack, where everyone can reach them. 

First player rolls the 1-2-3 die and chooses a card.  The player scratches out the number of wrong answers that correspond with the roll of the 
die.  

• Roll a 1 – scratch out one wrong answer
• Roll a 2 – scratch out 2 wrong answers
• Roll a 3 – scratch out 3 wrong answers

Player earns one point for each wrong answer they scratch.  If a player accidentally scratches out the correct answer, he/she earns no points for 
that round (even if they did already scratch out some wrong answers).  Keep score on the dry erase board. 

Play until there are no more cards or until you run out of time.  The cards are two-sided so be sure to play both sides. 

To win: Winner is the one with the most points at the end of the game. 

Printing: landscape, black & white, 2-sided, laminate for dry erase
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Unit: 5th – Fractions: Adding & Subtracting
Lesson: 5.3.H - Use Models and Pictures to Add & Subtract Fractions with Unequal Denominators
Wrong is Right
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1. Mrs. Ali collected notebook paper from her students at the beginning of the year.  The model 
is shaded to show the fraction of this notebook paper that Mrs. Ali used in each of the three 
months.  

What fraction of the notebook paper Mrs. Ali collected was  used during these three months? 

A.
3

8
C. 

3

14

B. 
7

8
D. 

1

8

First 
Month

Second 
Month

Third 
Month
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2. Cara and Marcus shared a candy bar.  The models are shaded to show the fraction of the 
candy bar each of them ate. 

What fraction of the candy bar did Cara and Marcus eat altogether? 

A. 
11

12
C. 

1

12

B. 
9

16
D. 

9

24

Cara

Marcus
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3. Megan cooked pizza for dinner.  She sliced one pizza into 4 slices and one pizza into 8 slices. 
The shaded portion shows the part of the pizza that the family ate for dinner. 

How much pizza did the family eat? 

A. 1
3

8
 pizza C. 1

1

8
  pizza

B. 
5

8
 pizza D. 

7

8
 pizza 

5.3.H - models and pics - add.sub unequal fractions – Wrong is Right



4. Juana  has two cans of leftover paint. The shaded parts of the models show how much paint is 
left in each can.  

How many cans of paint does Juana have altogether? 

Can 1 Can 2

A. 
9

10
 of a can C. 1

1

5
 cans

B. 1
1

10
 cans D. 1

4

5
 cans
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5. The shaded part of the model represents a fraction.  Another fraction was subtracted from 
the first fraction. 

Which expression does the model represent? 

A. 
11

15
 −

1

6
C. 

6

15
−

4

15

B. 
11

12
−

6

12
D. 

11

15
−

2

5
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6. Vanna used the fraction strips shown to help her determine the difference between 
5

6

and 
1

4
 . 

What is 
5

6
 -

1

4
 ? 

Fraction Strips

A. 
1

5
C. 

1

2

B. 
7

12
D. 

5

8
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7. Wanda the Witch has a tray of spiders she is trying to sell.  She sold 
1

5
 of the tray of spiders 

yesterday. The shaded part of the model shows the fraction of the tray she had left to sell today.  
The Marked-out area shows the spiders she sold today. Which expression can Wanda use to find 
what fraction of the tray of spiders she has left to sell tomorrow? 

A. 
4

5
−

1

6
C. 

4

5
−

1

5

B. 
4

6
−

1

6
D. 

4

30
−

1

30
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8. Murray is responsible for water for 
the soccer team.  He bought all the 
water he thought he would need for the 
first 5  games at the beginning of the 
month.  The shaded part of the model 
shows the fraction of the water Murray 
had left after the first game.  The 
marked-out part of the model shows 
the fraction of the remaining water that 
the team used during the second game. 
What expression can Murray use to 
figure out the fraction of his water he 
has left for the rest of the games? 

A. 
5

6
−

3

8
C. 

3

8
−

5

6

B. 
11

24
−

4

8
D. 

3

4
−

1

6
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9. Malcom is a house painter.  He bought all the paint he thought he needed for the month all at 
one time.  The model is shaded to show the fraction of his paint he used in each of the first 
three weeks of the month.  

What fraction of the paint Malcom bought for the month has he used during the first three 
weeks?  

A.
7

12
C. 

9

12

B. 
2

3
D. 

1

12

First 
Week

Third 
Week

Second 
Week
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10. DeMarcus and Maddison each ate part of a box of cookies. The models are shaded to show 
the fraction of the box of cookies that each of them ate. 

What fraction of the box of cookies did DeMarcus and Maddison eat altogether? 

A. 
2

3
C. 

4

6

B. 
3

5
D. 

5

6

DeMarcus

Maddison
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11. Stinky Stan ordered two sardine and garlic pizzas for his family to eat while they were 
watching the Super Bowl.  He sliced one pizza into 3 big slices and one into 6 slices. The models 
show how much of each pizza his family ate during the super bowl. 

How much pizza did his family eat? 

A. 1
2

3
 pizzas C. 

5

6
 pizza

B. 
2

3
 pizza D. 1

1

6
 pizzas
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12. Jocelyn made two loaves of banana bread.  She cut one loaf into 4 pieces and one loaf into 8 
pieces.  The shaded areas of the model show how much of the banana bread has already been 
eaten.  

How much of the banana bread has been eaten altogether? 

A. 
3

4
C. 1

7

8

B. 1
1

10
D. 1

1

8
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13. The shaded part of the model represents a fraction.  Another fraction was subtracted from 
the first fraction. 

Which expression does the model represent? 

A. 
11

15
 −

1

6
C. 

6

15
−

4

15

B. 
11

12
−

6

12
D. 

11

15
−

3

5
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14. Vincent used the fraction strips shown to help her determine the difference between 
7

8

and 
3

4
. 

What is 
7

8
−

3

4
? 

Fraction Strips

A. 
1

8
C. 

1

4

B. 
4

8
D. 

3

8
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15. When Wanda the Witch opened the Witch Supply store this morning, she had sold 
1

4
 of a 

tray of spiders. The shaded part of the model shows the spiders she had left this morning. Today 

she sold  
2

5
 of the tray. What fraction of the tray of spiders has Wanda sold altogether? 

A. 
8

20
C. 

5

20

B. 
7

12
D. 

7

20



16. The shaded part of the model represents a fraction.  Another fraction was subtracted from 
the first fraction.  What fraction is left? 

A. 
14

16
−

2

8
=

9

16
C.

11

16
−

2

8
=

9

16

B.
14

16
−

2

8
=

10 

16
D.

11

16
−

2

8
=

7

16
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17. Marjorie got paid at the beginning of the month. The model is shaded to show the fraction 
of her pay that Marjorie spent in each of the three first weeks of the month. 

What fraction of her monthly pay has Marjorie used during the first three weeks of the month?  

A.
3

8
C. 

4

8

B. 
1

2
D. 

8

8
 (All of it)

First 
Week

Second 
Week

Third 
Week
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18. Bert and Ernie are driving to see their mom.  The models show the fraction of the way that 
each of them has driven so far.  

What fraction of the total distance to their mother’s house have Bert and Ernie traveled so far? 

A. 
6

10
C. 

6

5

B. 
9

10
D. 

8

10

Bert

Ernie 

5.3.H - models and pics - add.sub unequal fractions – Wrong is Right



5.3.H - models and pics - add.sub unequal fractions – Wrong is Right

19. 19. Disgusting Donald made two of his famous green moldy cheesecakes for a banquet of 
the Disgusting Diners’ Club.  He cut one cheesecake into six slices and one into 12 slices.  The 
white part of the model shows how much of each cheesecake was eaten. 

 How much cheesecake did the disgusting diners eat altogether? 

A. 
3

12
 cheesecake C. 

5

12
 cheesecake

B. 
3

6
 cheesecake D. 

5

6
 cheesecake



20. Mrs. Thompson bought sandwich meat for her 3 sons to use for their lunches this week. The 
model is shaded to show the fraction of the lunch meat that each son has eaten so far.  

What fraction of the lunch meat have the three boys eaten all together? 

A.
3

8
C. 

7

8

B. 
4

8
D. 

1

8

Manny 

Moe

Joe
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21. Marcus made two pans of brownies for a bake sale.  He cut one pan into 6 pieces and one 
pan into 12 pieces.  The white areas on the model show how many of the brownies from each 
pan were sold, the shaded areas show the brownies that are left.   

How many pans of brownies were sold altogether? 

A. 1
7

12
 pans C. 1

3

12
 pans

B. 3
3

6
 pans D. 1

1

6
 pans
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22. The shaded part of the model represents a fraction.  Another fraction was subtracted from 
the first fraction. 

Which expression does the model represent? 

A. 
14

18
 −

2

6
C. 

4

18
−

2

6

B. 
14

18
−

6

6
D. 

8

18
−

6

18
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23. Veronica used the fraction strips shown to help her determine the difference between 
2

3

and 
1

2
 . 

What is 
2

3
−

1

2
? 

Fraction Strips

A. 
1

3
C. 

3

4

B. 
1

6
D. 

1

8
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24. Carlotta the Cavity Queen found 
2

3
 of a box of candy in her desk drawer.  She immediately 

ate 
1

4
 of the box.  The shaded part of the model shows the candy Carlotta found.  The marked- 

out part shows the candy she ate. 

Carlotta can use the expression 
2

3
−

1

4
 to find out what fraction of the box of candy she has left.  

What is 
2

3
−

1

4
 ? 

A. 
3

6
C. 

3

5

B. 
5

12
D. 

3

12
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25. Murray is responsible for water for 
the soccer team.  He bought all the 
water he thought he would need for the 
first 5  games at the beginning of the 
month.  After the first game he had 5/6 
of the water left.  Then at the second 
game the team drank another 3/8 of 
the water supply.  What fraction of his 
water supply does Murray have to last 
for the rest of the games? 

A. 
8

24
C. 

18

24

B. 
11

24
D. 

12

24
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26. Our city is having some trouble with monsters.  The models show the fraction of our city that 
that each monster has destroyed so far.  

What fraction of the city have Godzilla and King Kong destroyed altogether? 

A. 
3

4
C. 

4

5

B. 
6

8
D. 

7

8

Godzilla

King Kong
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27. Zariya made two pies for her bakery.  She sliced one pie into 4 slices and one pie into 8 
slices. The shaded portion shows the parts of the pies that Zariya sold that day at her bakery. 

How much pie did Zariya sell altogether? 

A. 1
5

8
 pies C. 

7

8
 pie

B. 
5

8
 pie D. 1

7

8
 pies

5.3.H - models and pics - add.sub unequal fractions – Wrong is Right



28. The shaded part of the model represents a fraction.  Another fraction was subtracted from 
the first fraction. 

Which expression does the model represent? 

A. 
14

18
 −

2

6
C. 

10

18
−

1

6

B. 
8

18
−

1

6
D. 

10

18
−

8

18
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29. Vivianna used the fraction strips shown to help her determine the difference between 
3

4

and 
2

3
. 

What is 
3

4
−

2

3
? 

Fraction Strips

A. 
1

4
C. 

1

12

B. 
4

6
D. 

1

8
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30. Carlotta the Cavity Queen found 
3

5
 of a box of candy in her desk drawer.  The shaded area 

shows the fraction of the box of candy Carlotta found. The “X’s” show the candy that Carlotta 
ate as soon as she found the box.  What fraction of the box of candy is left? 

A. 
1

3
C. 

6

15

B. 
4

5
D. 

4

15

5.3.H - models and pics - add.sub unequal fractions – Wrong is Right
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